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, 27 §5. Match the following :
BIOLOGICAL SCIENCE . , i, Skin ( ) a. Bile'pigmients
| ii. Liver () b. Sebum
51. Cuscuta plant*absorbs food through iii.  Colon () c. Salts of calcium, magnesium
(1) Haustoria (2) Stem (1) b,ac (2) a,b,c (3) cb,a (4) b,c,a
(3) Root (4) Flower o W€z 58
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52. The digestive juice without enzyme is | X 3 a,b,c (2) b,a,c (1)
(1) Gastl*ic jui-cti: (2) Pancreatic juice a2 (4) 0 () .
(3) Intestinal juice (4) Bile juice 86. The method of artificial propagation by which thousands of plants can be grown in
. 2 i 3 hort period is :
eSS e BB, 52 *(T)ry SG{:aﬂF;fl; () Layering  (3) Cutting (4) Tissue Culture
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33.  Which of the following is not related to the 4 R’s of environmental protection ? §7. The tropic movement of tendrils is
(1) Reduce (2) Reuse o (1) Geotropism (2) Thigmotropism
(3) Recycle (4) Remove . (3) Chemotropism (4) Hydrotropism |
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54. Watershed means : —[B] —— Motor nerve —— Tissue
(1) Land between water sources usually of two rivers or streams. | 58. Sense organ —|A]— Spinal Cord .
(2) Village boundary
(3) Drainage system
(4) Village tank

Here A and B represents )
(1) A=Brain,B= Sensory nerve (2) A =Sensory nerve, B= Rccgplnr
(3) A =Receptor, B = Sensory nerve (4) A = Sensory nerve, B = Brain
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39. Weeds and some wild plants are not eaten by insects, pests and animals because
(1) Their leaves are very small
(2) These are not attractive

(3) The plants may contain toxic chemicals and unpleasant to taste
(4) All the above
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60. The biological process in which light energy is converted into chemical energy is
(1) Respiration (2) Photosynthesis
(3) Excretion (4) Transportation X

e dndx AL SIS L2t S Qlows

T (% ) g

JE @ LI (3)
61. End products of light dependent reaction is
(1) CgH,,0, (2) Co,
(3) O,, ATP, NADPH (4) H,0
s, @ . .=
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H,0 (4) O,, ATP,NADPH (3)
62. These seeds are used in the production of biodiesel
(1) Groundnut (2) Jatropa
(3) Coconut (4) Sunflower
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The physiological disorder due to accumulation of heavy metals into human beings
through food chain is

(1) Renal damage (2)
(3) Loss of eye sight (4)
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Tooth decay
Heart diseases
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(1) Biological Oxygen Defficiency
(2) Basic Organic Dominance

(3) Biological Oxygen Demand
(4) Basal Organic Demand -

‘ESRD’ is related to this organ and its full form is
(1) Lungs — End Stage Renal Disease

(2) Kidney — End Stage Renal Disease

(3) Kidney — External Sophisticated Renal Disease
(4) Lungs — External Sophisticated Renal Disease

:c;.,féﬁd'.ﬁ S Jnlecr® JIJ"? K'ESRD’ .65
End Stage Renal Disease — &= ;g-f’* (N
End Stage Renal Disease — é...!; (2)
External Sophisticated Renal Disease — :...Jf (3)
External Sophisticated Renal Disease — &— %ﬁ (4)

66. The cardiac cycle contains

BiPC/CGDT

Ventricular Systole
All of these

(1)  Auricular Systole (2)
(3) Aurico-Ventricular diastole (4)
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67. Very poor muscle development, swollen legs, fluffy face, diarrhoea and dry skin are
the symptoms of this disease

(1) Kwashiorkar (2) Marasmus
(3) Obesity (4) Pellagra
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68. Material required to conduct an experiment to prove CO, is evolved durmb
respiration

(1) Glass bottle, germinating seeds, thermometer
(2) Glass bottle, germinating seeds, lime water
(3) Glass bottle, dry seeds, thermometer

(4) Glass bottle, dry seeds, lime water
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69. Correct statement among the following :
L. Xylem transports minerals and water.
ii.  Phloem distributes nutrients.
iii. Xylem has upward movement.

iv.  Phloem has also upward movement.
(1) iandii (2) 1i,ii and iii
(3) i, i1 and iv (4) All of these
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70. This is the way how sperm break through the egg cell membrane
(1) Tears a hole in the membrane
(2) Dissolves the membrane with chemicals.
(3) Bites through the membrane with teeth.
(4) Squeezes through gaps in the membrane.
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71. What happens when Adrenalin level increases in our blood ?
i.  The hair on the body becomes erect and we get goose bumps.
ii.  Skin becomes sensitive
iii. Anger decreases
iv.  Urine may discharge
(1) i1 and iii (2) ii,iiiand iv
(3) iandiv (4) i, iiandiv
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72. This part of brain controls hunger pangs

(1) Medulla oblongata (2). Diencephalon
(3) Cerebrum (4) Midbrain
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73.  Meaning of the phrase “Omnis Cellula de Cellula™is
(1)  All cells exist from preexisting cells.
(2) Allcells can divide.
(3) All cells contain Nucleus.
(4) All cells are the product of Nucleus.

a8 L &% “Omnis Cellula de Cellula”
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74. This vitamin is not available in any kind of food material, only digestive tract fauna
-synthesis it.

() B, (2) B, 3) Vit-D @) B,
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75.  Which of the following statement is correct in respective of ‘diaphragm’ ?
(1) It helps in maintaining of heart beat.
(2) It helps in releasing of lactic acid.

(3) It helps in moving of air into and out of lungs.
(4) It helps in releasing of energy.
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76. Hormone that helps in absorption of water from urine is

(1) Vasopressin (2) Cartisol
(3) Adrenalin (4) Testosterone
‘ st/ Ohe s 202 4
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77. The muscles that helps the mouth enable the food to be pushed into oral cavity are
Longitudinal muscles
Sphinter muscles

(1) Pharyngeal muscles - (2)
(3) Circular muscles (4)
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Q,.L_Y"c__uju‘:g 5~ (oral cavity)g&»(l:@ﬁ:aw a7

=W hP (2)
=Sl (4)

78. Vasectomy means
(1) Cutting and tied pf Sperm ducts  (2)
(3) Foeticide 4)

..'::-Wd;l’ (N
=WFS2 (3)

Cutting and tied of fallopian tubes
Prevention of sexual diseases

) fe—Vasectomy .78
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79. Branchial respiration is found in

(1) Cockroach <)
¢ (3) Frog (4)
L;"f (2)
iy (4)
80. Cluster of air sacs in lungs are called
(1) Bronchi (2)
(3) Blood capillaries (4)

L.
A7 (4

81. Double fertilization is seen only in

(1) Cycas (2)
(3) Angiosperms 4)
Y@
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Fish
Birds
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Bronchiole
Alveoli

Pinus
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Bryophytes
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82. The four stages of urine formation respectively :

83.

84‘

85.

86.

Q. Booklct E

Code

Tubular secretion
Tubular reabsorption

i Glomerular filtration ii.
iii.  Formation of Hypertonic urine  iv.
The correct sequence is

(1) 1,1, 1v (2) 1,1v, 11, 1
(3) i, ii, 01, 10v 4) i,iil, v, i
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i, iii, i, iv (1)
i, ii, iii, iv (3

L, iv, i, i1 (2)
i, iii, iv, 11 (4)
Stethoscope is discovered by

(1) William Harvey (2)
(3) Rene Laennec (4)

Marcello Malpighi
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The liquid portion after the formation of blood clot is called
(1) Serum (2) Plasma (3) Lymph (4) Water
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This shows remarkable affect on photosynthesis :
(1) Temperature (2) Humidity
(3) Intensity of light (4) All of these
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In grafting the piaﬁt part which supplies nutrients from soil is called
» (1) Scion (2) Graft
(3) Stock ’ (4) Branch
'i-'-""/ Alpl P e RIS iy
Cl: (4) (.J/U‘-l) J"l 3) ..‘Jlf (2) (5% (1)
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87. Forelimb of whale, wing of bat, hand of human being are said to be
(1) Homologous organs ' (2) Analogous organs
(3) Remarkable organs (4) Common ancestor organs
UJLM?#":' Jlriuul‘.{_i Jj‘gic.ﬂiﬁiliuqutft R7
;L’afluj!)'/f: (2) fW’L’T-:J/;;’T (1)
,Wt‘f_,lgl,ﬁj}'ﬁ'- (4) ,uafrfi._}.s (3)
88. John Daper : Human Physiology : : Charles Lyell : -
(1) Principles of Geology (2) Natural Selection
(3) Malthus theory (4) Genetics
o | o T
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—Edue (2) =LA (1)
=2 (4) < ;_,f"JL (3)
89. Phytoplanktons means
(1) Plants grown on river side (2) Plants grown on surface of water
(3) Plants submerged in water (4) Plants grown on trees
:lfaéjd!:’ 89
LJ;LI:LL_?L#A;&’JL}L' (2) ."_.:;Llsi.lg.ff_.g,gfv&ku (1)
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90. Charles Elton relates to
(1) Embnology (2) Physiology
(3) Ecology (4)  Geology
.::.-_J'-l" b’d'EuJJLg 90
= (2) =L (1)
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91. The process involved in the formation of seedless fruits
(1) Parthenogenesis (2) Fragmentation
(3) Regeneration (4) Sporulation
wi.bi‘j’bfé_lsﬁd’gx:éu”?.@)dy?u 91
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92. Pathway of ovum in female reproductive system is
(1) Ovary — Oviduct — Uterus — Vagina
(2) Vagina - Uterus — Oviduct — Ovary
(3) Ovary — Oviduct — Uterus
(4) Uterus - Vagina —»0viduct
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93. Phenotypic ratio of F, generation in Mendel’s Monohybrid cross

(n 1:2:1 2) 2:1

3 3:1 (4) 1:5:2
;‘-_..,..ft'-'b’?u/.-w,jd" F, gﬂbﬁld‘:.{&di{
2:1 (2) 1:2:1 1)
1:5:2 (4) 3:1 3

94. The tendency of pollutants to concentrate as they move from one trophic level to the
next is known as ,
(1) Bioaccumulation (2) Bio-magnification
(3) Biological Progression (4) Bio-remediation
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95. Which of the following system co-ordinates to digestive system ?

i.  Circulatory system ii.  Nervous system

iii.  Skeletal system iv. Reproductory system
(1) 1and m (2) 1andn

(3) iiand i (4) iandiv
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96. Passing of characters froni parents to offsprings is called
(1) Heredity (2) Natural selection
(3) Variations (4) Aquired characters
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97. The resin obtained from Pinus is used in
(1) Varnish (2) Bread (3) Rubber (4) Medicines
SIS Al ninf e UTy 97
b A -
Ukl (4 E dr @ Jabs (1)
98. Scientific name of ‘Touch me not” plant is
93 ety by ‘JrJ;f > 98
(1)  Mangifera indica (2) Mimosa pudica
(3) Azadirachta indica (4) Cincona officinalis
99. Microvilli is present in ‘P’ and they work as Q. The ‘P’ and *Q’ are
' (1) P =intestine, Q = Absorber of nutrients into organs
(2) P = Absorber of nutrients, Q = Intestine
(3) P =Small intestine, Q = Absorber of nutrients into blood
(4) All of these :
94 QP b S Q J')b’c}lwl.lgf_gu: ‘P 0k 99
NP Lola?! =QfT=P (1)
=T =Q el Wl ®=P (2)
- - . . ‘
NP LYF = Q=P (3)
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100. Energy currency is the name of this and it is formed due to
95 (1) ATP - Digestion (2) NADP - Respiration
(3) ATP - Glycolysis (4)° NADP - Glycolysis
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